Math 1211: Quiz #8 Winter 2016

Name: @ l Ak Section:

7
1. Find the 3rd order (degree) Maclaurin polynomial of f(z) = In(1 + z).
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2. Fmd the 2nd order (degree} Taylor polynomial of f(z) = & centred at 1.
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Math 1211: Quiz #8 Winter 2016

Name: /%19 | AF#: Section:
N~

1. Find the 3rd order (degree) Maclaurin polynomial of f(z) = (1 + z)%2.
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2. Find the 2nd order {degree) Taylor polynomial of f(x) = lnx centred at 1.
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Math 1211: Quiz #8 Winter 2016
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1. Find the 3rd order (degree) Maclaurin polynomial of f(z) = €® — sinz.
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2. Find the 2nd order (degree) Taylor polynomial of f(z) = (z + 1)*2 centred at 3.
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